o
o1
o

FEOTO oW

CEUENFDHFEFTRATHES! T RDOBERICF LI " G
ADRESZILLT. 60 ALENS \ (SR M 4000 FIEE B0, REORE 28R LI TR T, i
TEEBITANT. HFENODFHA YTY ANRBOBESKEEER L, N/
THELELD, T { < EfinzoBag LTOET, v
60 i TY &
ELEHNBERK,
BEOTNZESD 1 5 10 20 8’ .
S%YTh! o] &
”,. T T < 2§ T 4 KUl %
o ﬁ
)Z_J 60 970 100 3600 y » AT
JL

60+5047=11
Quiz® Q0TI

T & WY

60+50+7=7

= 5
N -
S
< i
J
(@

3X60+40+1=221
1"

AXRDUDL

N
N
S
5
ga

1)

=

60+20+8=88

Nl
N
S
5
o

A CELTHBL.
PHURTNZ] 4 X60+40+1=281

2X60+10+9=139
20

5

3

KA

]

NIRRT
CYDPP PRI L DT,

FA. X, woxES, ERET

MO FTRELTVE LT,

TFALL
2> CF o~

HARDEZ (56~—) @11,70011701390281



